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EATE: LEMWRBREAKRLSOA, T4 37 A%, L4164] 100%.
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(1) HAAREHTH: $45: A
£ 5 5000 6000 7000 8000 9000 10000
EAEFE 223.2 267.8 312.4 320.8 360.9 392.9
HRE2 3 11000 12000 13000 14000 15000
EAFE 432.2 456.0 494.0 532.0 570.0

(2) RAMREMT A
HRIEEH 5000 6000 7000 8000 9000 10000
EAEFE 343.6 412.3 481.1 535.6 602.5 654.9
RELH 11000 12000 13000 14000 15000
EAFRE 720.4 760.6 824.0 887.4 950.8

RIS F R =R TR x BATIHIAT AL < FIORT RE < RRAT AH x (L-ARIreR)

(PRI Z a4 ANEA)

1. SATRBIAT 25

AT e PR AT HERHK
50% 0.475 80% 0.790
55% 0.528 85% 0.843
60% 0.580 90% 0.895
65% 0.633 95% 0.948
70% 0.685 100% 1.000
75% 0.738

2. ARIr=%
B AR K P BT
0—99 0%
100——299 5%
300——499 10%
500——999 15%
1000 v £ 20%
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3. FRATAK
i W RS i PR A ity PR R
16 0% 33 127% 50 35%
17 0% 34 120% 51 30%
18 0% 35 113% 52 28%
19 0% 36 107% 53 26%
20 0% 37 100% 54 24%
21 0% 38 95% 55 21%
22 89% 39 90% 56 19%
23 101% 40 85% 57 17%
24 113% 41 80% 58 15%
25 125% 42 75% 59 10%
26 136% 43 70% 60 0%
27 148% 44 65% 61 0%
28 160% 45 60% 62 0%
29 153% 46 55% 63 0%
30 147% 47 50% 64 0%
31 140% 48 45%
32 133% 49 40%

4. REBATEEK
WX REY S WX LRE X
L3 1.4128 b 0.5719
K iE 0.9205 # 0.5692
Tk 0.4522 & 0.6984
L fG 0.4342 S 0.3898
ARF 0.3321 i 0.5848
L7 0.5294 TR 0.5317
FAk 0.4962 )| 0.4465
2 ix 0.5739 M 0.4569
i 1.0000 =i 0.4572
Pai:y 0.7543 i 0.2300
2 0.8177 i 7 0.5072
K 0.4387 HA 0.2948
B 0.5788 Fik 0.3822
padt 0.3968 TE 0.5024
NIT:3 0.5479 # a8 0.4348
T 0.3748
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